
BOS OVAL SLIP-ON 2005 AND UP

Pos Qty Description Part No. Order number

1 1 Muffler stainless 299312 0510606S - Stainless

Mounting kit : 280181 Weight

2 1 Mounting bracket 277016 Original: 6.6 kg

3 4 Bolt M6X16 408007 Bos: 3.6 kg

4 4 Washer M6 408058

5 4 Lock washer M6 408001 Noiselevel @ 4250 RPM

6 1 Spacer 441029 Original: specified 94.0 dB(A)

7 1 Lock nut M8 408018 measured 93.7 dB(A)

8 1 Washer M8X30 408010 Bos: Ec appr. 94.5 dB(A)

9 1 Clamp 45 290045 open 98.0 dB(A)

Performance 

Bos: 71.4 Hp / 8477 rpm

Stock:66.8 Hp / 8401 rpm

Max Hp incr.: + 4.7 Hp / 8386 rpm

Max Nm incr. :+ 8.9 Nm / 4927 rpm

Tips

More information like photos and

a full color dyno graph can be 

found on: www.bos-exhausts.com

 Fits both models but is Ec appr.

for the ER-6N till 2008

 

 

KAWASAKI

1

2

6 8 7 3

5

4

9

ER-6N     VERSYS

K03
K04


